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.1) Divide {he swaller nowber nide he larger.
a\\ DIVI&C 'UA.:_ Pr;'w'eus r%%&‘ u\,"lo 'fk:.

Pre.\uovs cQ:ut&:r'.
3)! Do step 2 repeatedly ot the

FeWeln (,Q&f bccow.c’—) Too.

4 The previevs rewmander i gedla,b).
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(b) Expressing qedl(ab) in fhe Foru ax-by.
To fin x and y°
1) Use the nexddo-lost ™ rerander ulwt,w”

frewe part () to rewoerte _gc:&(c’nl» .
E_ﬁ rouw the above, e heve

6= 4 -(3-1.



2) Solve the previous rewaander e.tu
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8 = 138~ 24-4,
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6=3a4- (138-24-5) -1
= ad-/38+24-5
= 24d-6-13%.
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714-6 -13%-30 (3%
=714-6 - 135-3L.
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Fiw & ﬁ&&(35) ”7”) ouxd find X,VGZ R IA
35x - 17y =1.

Solvhiow. (a)

N749= 35-33+][9

35= |9-1+/6
19= 16-1+3
(6= 3-5+] «

36&(35;”7‘” =1.
3= 31O
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/6'6‘14‘5 (Snuplﬁ {})
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